2021 #552[A] FEFHARY 2 = 7 KIKRFHERES 1/1
WIH :20214E9H 250 (+)~9H26H (H) S ARG A 7 ) —7 (50m)

No. 45 Z+ 50m N2 2754 R B Sk 29.79

L INEEDE >

EhI K 4 T B 2E KK B
1 B HH B7HESS /N6 1/ 5 z&g}g 13tk

25

2 FE)N A T ETEL NG 1/ 6 30.15 107%
3 i % T ETEIL NG 1/ 4 30. 41 107%
3EHET KE ASZ3EES NG 1/ 7 30. 41 10%%
5 FHATIESS A b~k N6 1/ 2 31.08 Ok
6 %iE I 7 B 7H S C /NG 1/ 1 31.10 105%
T HR RH oI EMW NG 1/ 3 31. 21 107%
8 NI 4 ES C NG 1/ 9 31.40 10:%
9 INfEAIT A V EET /N /N6 1/ 8 31. 41 10:8%
10 R piE Vs A NG 1/10 31.85 9k

HAOHEME: 9H25H 15:36



